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’2 mwn: Process of namw
a  First: they would sink him into dung up to his knees (to keep him from moving)
b 7’ they would put a hard cloth into a soft one, put it around his neck and pull from two sides to open his mouth
i Dissent (771777 77): they would used pincers to open his mouth (since, if he died by the cloths, n9w nan r¥’ 8Y)
¢ Then: they would light a lead bar and throw it in and it would burn out his insides
i Report (¥7ax7): a 103 na was convicted of mir and the 7”2 put wraps of wool around her and burnt her
1  Response: that 772 was unfamiliar with the procedure
2 also: reported seeing a case like that when he was young; report was discounted as a childhood recollection
(a) observation: this must have been the first report; then he reported what he saw as a 511, which was dis-
counted as this was an errant 7”2 (q0Y 11 — a "7 1 of WMTY)
Source for method of namw
a  p'm:neMv:ngv (v. 1) from death of mp n1y — v. 2 indicates that the body was intact and the insides were burnt
b R™M:n9MW::neMY from 1INR’s sons - v. 4 implies that their bodies were intact and the insides were burnt
i ®™interprets v. 2 as real burning, but bmwai indicates the reason, as per »’s application of v. 3
ii  p"ninterprets v. 4 as real death, but it began inside, as per tradition about four shoots of fire
1 And: omR (v. 4) implies that they were burnt, but not their clothes
¢ Question: why not infer from the burnt 019 (normal burning)
i Answer: more analogous to NMp N7y or 117X 11 — both people, sinning, the soul is burnt and %1wa doesn’t obtain
1 Counter: ©297w10 19 is more analogous as it is the proper method and is a perennial law
2 Defense: "R 12/mp N1y are closer, as they have more things in common (4 > 2)
d  Analysis: why doesn’t p"n infer from panR »1?
1 Answer: that is real burning (as above) and, applying 1’s read of v. 5 — more humane killing
2 Challenge: if so, why need the w"»?
(a) Answer: if not for w"n, 8”0 that “inside burning” isn’t na7v at all
(b) And: 1™ alone would suggest that we use the “wraps of wool” to kill quicker — 5"np
e  Tangent: nTaR about X1naRy 211’s deprecatory attitude towards nwm AR
i And:note about np nTy, how he was able to amass a group of followers
f  Story: of a 102 na who was burnt by an X1nR, using the “wool wraps”
i Note: 2 errors — method and mandate (as per v. 6) — executions can only be carried when there is a 113 (i.e. vTpn)
13 Mmwn: process of 31 (9770)
a  onon: they would behead him while standing, just as the Romans do
b nmn 1 this is degrading to body; rather, they put his head on a stand (like an anvil) and use a cleaver to behead him
i Response: there is nothing more degrading
ii  Conversation: N1’ "3 admits that his method is most degrading; but v. 7 militates against using Roman execution
1 Counter: since the nmn provided for 9o, v. 7 is no longer a consideration, as we aren’t imitating them
(a) Proof: ruling that we burn vessels etc. to show mourning for death of kings, as per v. 8
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iii  Discussion: in the next chapter, murder and nnTin 9’y are listed as crimes which carry 9»v as punishment
1 Understood: source for nnTan 1y - v. 9 explicitly uses 110
2 However: source for n¥y1—v. 10 — doesn’t explicitly use 2n; how do we know §»0?
(a) Answer: end of v. 10 uses np»» mpy, as per v. 11 — that is with a 27
(b) Challenge: perhaps it means to pierce their stomachs
(i) Answer: 270 »a5 implies use of the blade, not the tip
(if) Challenge: perhaps it means to slice them in half
1. Answer: ’s application of v. 5 militates against that
(c) Note: this only supports method for killer of slave (v. 10) — what of killing a freeman?
(i) Answer:y"p —if killing a slave carries 9v, certainly killing a freeman can’t be pan
1. Note: this argument will not work for w™, who grades pin as more serious than q»v
2. Answer: v. 12 compares all executions of murderers to noy nvay — blade and at the neck
a.  Challenge: if so, imitate navy nY3y exactly and use a cleaver from the back!
b.  Answer: 1’s application of T3 7% nanxy
IV 23 mwn: process of pin
a  First: they would sink him into dung up to his knees (to keep him from moving)
b then: they would put a hard cloth into a soft one, put it around his neck and pull from each side until he died
V  source for pin: exegesis of v. 13: adult male having relations with wife of an adult Jewish male — nny mn — by pan
a  wr 1 —if there is no specific method mentioned, we can go no further than the “lightest” form of execution
b 1my "3 —not for that reason; rather, default of nnm means pan
i Explanation (»27): just as ©'nw »1a N n leaves no obvious impact, so too DR *12 Anvn
ii ~ Challenge: perhaps it means n2w (which is internal, as above)
1 Answer: since 112 na was singled out for nav (explicitly), a non-1n3 na must not be namw
2 Question: how does mwr» "1 know that pin even exists as a potential method of execution - perhaps its 970?
(a) Note: we understand jmv '7’s source — as 11 explained it
(b) Answer: there was a tradition of 772 mmm 7
iii  Suggestion: their dispute revolves around whether pin or 970 is the lightest (j13127/v™)
VI Question (»an5 x7r 79): all w9po1 where we don’t have explicit mention of n%’pv and they are learned from my 2R (v. 14)
a  Are they: inferred via nny mn OR from na ninT?
b  Answer: from na nnT; else what is the purpose of that phrase?
¢ Counter: then what is the purpose of nny mn?
i Answer: as per Rna explicating v. 15 — use any means necessary to kill him
d  Related question (’n9770 &nx “70f 82°27): why would »ar be bothered if it was inferred via nny mn?
i Cannot be: w& nWR (v. 13) that would be inferred from 1y 218 and get n>po
1 Reason: since the n1n singled out no1IX for N po = WX NWR doesn’t get nYpo
ii  Suggestion: perhaps he was bothered by X1 var non — instead of inferring from WX nWR (pan), infer from R
1 Rejection: if we can infer from >R or w'& nwR, we'll go for the lenient one (VR NWX)
iii Answer: he was bothered by all non-excplicit 2'9p01 — why infer from »"x, infer from vx nwr
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